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       B	� o� u-	 $� �$1� �<��� �$�J�	 o�     .  ��� Q	�! �8���
�-� 
�,��  �
�$�RESET    �H�� 
�*H5� $H� 

          ��H�
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*�� �$5
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 �H
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trqt� a z�  ��J��  �$I  PC/XT  *H�  �$H.�  .q�   *H�*<  H�$IPC/AT     L��� �$M0$�J�H	 ���H� D15yD8
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 'I
��# J�K����	�� ��� ������	 ,�- '���:

 $� d$:!
�
�,��  �Slot ISA �$I +�  _���� s���
���
� D0 - D8  B�$�
� ����  DATAG��`E� � 

A0yA15� ��� Z
�) ���� decoding ��`E�� �<
$� �$M!
�I$� d$:!
��    H�$I+� GI/O   L*H� L�$2
H	� 

 B	� . B	� L*��p" �8:F BE�F
�$�  �$I+� \�*p�� u�.�!  p.

<�
<L =�������� ��� �;$� �� ���:

 $	$�� +�
�,���� 	 � I �
��   *:! @�$! (��� �*�  3� 	 ��     ��H� $�  � B	� �
�� � �   
�HJ0� +�
$H���    -H	��   �
�

B	�� ��
 G�	�  �$���� �
����
� �$E;� �	  � � �
�ISA� L��� L�$2
	��� . #
$�LMS

<��� B:Y ��$M��
 
� () ��  �$�*�$� .

��
� �$M����� �
 �	 �� �,� 
� ��� �
��J����C or  Matlab ��  �$��� ($�+ Q	�! �*
������ �
	�� � �

  ) 
� #$;[_�� 	 �A�A    
�  � ISA   �� *1��  ��
� +� ��$M�       *:! ��0$�)+$
0�  � #
�I  � �
 ��� � H� 3�

� (�D ����+$
0� G DAC� L��� 
��F�  QH	�!� L*� �0 �ISA H<����  � L��� 
��HF �H�� �)  H�   ��H�) $H! �

 *HH�� Z�HH�1�.DACHH2���HH� �HH<��� 
� *HH�$� �HH<��� 
�  HH�  �*HH:! �
�� 
��HHF () ��  HH� 3�c� �$HH


L*�ADC<��� *1�  8%�� 
��	 � Q	�! �
��
 
� ��  �$� B:Y� ��� .

���   �$�+ $! 3E; G�  �+�  �  �� �� �  ��
� +� ��  <��� $� � 	 �  K L+�*�� �
����   	  ,�$% 
��  H� �" �
� H� L�

�
��  ���� ���.

  � +� *1��    8%�� G� *:! @�$! G
�$�	 3���  �$��� ($�+ L*M; �� �
����� �  ()  H�$���  H� *�$� +
� H� L�
�) �

B	� L*�   .C,Matlab($�+ ��  �

#include <dos.h>
#include <conio.h>
#include <iostream.h>
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#include <stdlib.H>
void main(void)
{
clrscr();
int i,k,a1,n,j,g; 
float u=.1; 
float y[500],X[50],x[500],a[100],Y,e; 
for(i=0;i<500;i++)

{
x[i]=random(256); 

 outp(0x300,x[i]);
delay(.1); 

 outp(0x303,256);  // writing in adc's enable
a1=0; 

 while(a1&1!=1) 
 a1=inp(0x302); 
 y[i]=inp(0x301); 
 y[i]=y[i]/100;

cout<<y[i]<<"   ";
} /*

for(i=1;i<n;i++)
{a[i]=random(100);a[i]=a[i]/100;}

for(i=n;i<500;i++)
{
g=1; 

 for(j=i;j>(i-n+1);j--)
{
X[g]=x[j]/100;
g++;}

Y=0; 
 for(j=1;j<n;j++)
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Y=Y+a[j]*X[j];
e=y[i]-Y;
cout<<e<<"   ";

for(k=1;k<n;k++)
a[k]=a[k]+X[k]*u*e;

}
//cout<<endl;
for(i=1;i<n;i++)

cout<<"a["<<i<<"]"<<a[i]<<endl; */
getch();

}
…………TEST THE ALGORITM WITH MATLAB …………
N=5000;
x=rand(1,N);
h=rand(1,8);%[1 2 -1 3 5]; 
d=filter(h,1,x); 
figure(1);plot(x) 
Order=8; 
w=rand(1,Order); 
Mu=0.1;%Step Size

for i=Order:length(x)
    X=x(i:-1:i-Order+1); 

    y=X*w';
    e(i)=d(i)-y;

    w=w+Mu*X*e(i);
    WeightUpdateError(i)=sqrt(sum((h-w).^2));
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end
warning off
figure(2);plot(20*log(abs(e+eps)));
figure(3);plot(WeightUpdateError); 
warning on

M���� �	�# �� ��*:

���� � � (��� *�I/O  ) +�� 	 �>A�   $I B	� L*� L�$2
	�� $�  �>�?�A  Q	�!a0,a1,a2 �� Z
�)���   ��H� 

 ���$�+$	 �$1� +� ��>A�+ #
����� ��*�� L*� *�.

0 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
0

0.2

0.4

0.6

0.8

1

1.2

1.4

ERROR  
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<����y0����     
� #$;[_� G
��� A�A <��� ��y1����      b�$H� QH	�! #$;[_� (*���� �
��!�     H
��K �H,�

<���� L*��$M�y3 y2���� (��� �$1� ADC (*�����interrupt *H��  
�
 
$��    *H���� L��� () ^�H�  H�

*� .

 ���0 N�BKADC ���	
O�interrupt:

<����y3>A�5
���  � �wradc� 3�
�*B	� L� y2,int ,adc��
�  ��$M�>?� �  H
�
 H<���� () 

   �d0     � ���8E;  � B	� L*� 3�
��   �  � 
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outp(0x303,256);  // writing in adc's enable
a1=0; 

 while(a1&1!=1) 
 a1=inp(0x302); 
 y[i]=inp(0x301); 
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